340

A

Relief Valves

@ V RAIRSER SRR A

V series cartridge valve product specification

EAREDIHEAR (EHTE) Ovemewm
Direct Acting Relief and Anti- 0 . onar
Cavitation Valves Metric Cartridge — 350 bar

JRI2E Symbol

A
i
i

@ R~IE Dimensions

Hex. 16 M14X 1
Hex. 2.5 p——— K ©)
[a\]
S . . o ]
R = R
Hex. 2.5 | — /
40. 4 29. 6

i Description

ZREREN B LR RRES T BERAE Y LE O R STIANA Y A TN RE, RO T
MENRE, BEI—MIARSHSETME, BT EESRRIRITITUSIMEIEER
BEDTLEF, A8EKRD (1) BEDXHEITEE, BB FEERERD (2) .
EERREBRD, —PEEENRELEALVFRAZ TNEHRER MG (22 1),
SRR BN TARIEAR IR I ML A 23R4k, B PR DRI B AR S ERH IR

The valve combines in one compact insert cartridge the typical function of shock relief valve
and anti-cavitation through the check valve. In the pressure relief function it’s a side-in
nose-exhaust valve, with very low pressure rise thanks to the smart deflector design. When
the pressure at the high pressure inlet(1) reaches the valve setting, the valve starts to open
to tank (2). In the free reverse flow function a very light bias spring allows for ease of flow
passage from nose to side (2 to 1). High precision machining guarantees quick response to
load changes, limited hysteresis and reduced internal and external leakage.



B A4S Technical Features

SMER TSN REE R AT LI B IR IE, FRETHEIRATRENMHIE,
HERZT AL ERUASIREMN T, REERNAMRRERKNERSS. EAOIRED]
BT, &R EEEIEERAZE 350bar (5000psi) , A %L,

All external surfaces are zinc plated and corrosion-proof. All valve parts are made of high
strength steel. Both internal and external poppets are hardened and ground to guarantee
minimal wear and to extend service life. Pressure setting is ADJUSTABLE. Optional spring
ranges to 350 bar (5000 psi). 1-piece design. Metric cavity.

BARZ#3FE Technical Data

BRALEEN

. . 350 bar
Maximum operating pressure
BARE 40 L/min
Maximum flow
REEN BEITRIERR
Setting pressure See table in Ordering code
REENBERSE .
Pressure settings established 10L/min
%I‘iﬂl'ﬁEEﬁ . <0.5bar
Anti-cav cracking pressure
RARMRE 1 cc /min @80%iREE S
Maximum internal leakage 1 cc /min @ 80% nominal set point
SEFHRALEER Zn/Fe - standard
External component treatment Zn/Ni
REAM T BR Y
Orientation No restrictions

% 74E Installation torque

20-30 Nm (Hex.16)

E& Weight 0.08 Kg

ERRREE o o

0il Temperature Range -30°Cto110°C

BRAIENE TR AEIEB N SMRAKR Mineral - based or
Fluids synthetics with lubricating properties
IEAREEEE 7,410 420 cSt

Viscosities

MR EHES

0il testing condition

ISO VG 46 cSt

i3 E K Filtration

20/18/151S0 4406 (maximum filtration admitted)

MR
Technical specifications for
characterization

RER1-2
see the last page 1-2

341



@ V RAIRSER SRR A e

V series cartridge valve product specification Relief Valves

iM% Performance

58 & 1=(8-19bar) Springl=(8-19bar)

400
3 300
(0]
© 200
a
R
H
100
P
%/
0
0 10 20 30 40
EEFlow (L/min)
58 % 2=(20-70bar) Spring 2= (20-70bar)
400
T 300
ul
2
o 200
a
R
lﬁ
100
P
%/
0
0 10 20 30 40

REFlow (L/min)

342



AR MEEREETEMRERENERNRSLERN. EHREES T 40°C 5 46 cSt BHE
R p/Q HiZ,

Note: The performance chart illustrates flow handling capacity for each spring bias options. p/Q curves
are recorded at TOil =40° C and 46 cSt

58 % 3=(71-130bar) Spring 2= (71-130bar)

400
5
L2 300
v
35
a
¢ 200
[a W
N
5]
100 —
—— —
0
0 10 20 30 40
EEFlow (L/min)
5 % 4=(131-210bar) Spring4=(131-210bar)
400
5
2
300
g
2
o
£ 200 —
= —
[ —
100 ———— | — |
0
0 10 20 30 40

EEFlow (L/min)

343



@ V RAIRSER SRR A S

V series cartridge valve product specification Relief Valves

3 & 5=(211-280bar) Spring5=(211-280bar)

400
= 300
]
L2
" I
2 200 —
a I
E I
¥ 100

0

0 10 20 30 40

JREFlow (L/min)

38 %5 6=(281-350bar) Spring 6= (281-350bar)

400
// I
P —
. [
2 200
<
o
=
H 100
0
0 10 20 30 40
JREFlow (L/min)
[ 1514 38 I BE Anti-cavitation function
20
T 15
=2
<
>
3 10
v
o
N
1
5
0

0 10 20 30 40

JREFlow (L/min)

344



@ #2E cavity

VHO10
P19
®15.8 ¢!
—  M14X1 E
RO.2 4o e
= A
5
| =e P /- s ©
Z ; - 730° RO. 5mafk -
\—Z =
ZZk
(o]
)
o
/Joos ] a] 35° /
Lo RO. 1
@ @ 0.05| A D8.5 +o0s
@ @ 005 A @11- 5 *gv(ﬂfi
o= -
iT&%S Ordering code
DRVR5M -16 - D * - **
RE K f1barkt
BRF %S Setting pressure in bar
Valve basic cod "
alve basic code FE /B RA spring options
HEFLIAE Cavity HERS ENEESLE
M14= M14*1 B84 Springmodel | Pressure settingrange (bar)
M14= M14*1 Thread 1 8-19
. 2 20-70
#Ri2 marking 3 1130
D=T EHMAFR, TREABNEAEK
BHTHRIA 4 131-210
D=standard factory marking, customized 5 211-280
marking can be done upon request 6 281-350

345



